#1505 #8

#17

explain Dr. more
(94:103) (82:85) (48:52)
pos VBD pos NNP pos RBR
frame v _to:e-i-h frame n:x frame comp:e-u-u

comp

#9

#0 #5

more curly Mossman easily

(0:4) (34:39) (86:93) (53:59)
pos RBR pos J] pos NNP pos RB
frame comp:e-u-u frame a:e-p frame named:x-c frame a for:e-e

comp ARG1

#1 #2 #10 #12
common chrysotile reject the
(5:11) (12:22) (60:68) (72:75)
pos ]J pos NN pos VBN pos DT
frame a for:e-p ‘frame n:x frame v _as:e-i-p frame q:i-h-h‘

ARG1 ARG1 BV

#3 #13

fiber body

(23:29) (76:80)
pos NNS pos NN
frame n:x frame n:x




